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1. Evaluate.
a) (~=5)+16+(~10)-(-4) b) -9-12+(-3)
= ‘_.‘S‘f'lé '/O'f‘f{ - ﬁ‘f‘f/
= A0 IS5
, ]
=5
c) (—8+4)x(—5—2) d) -25+5*x 4
= (- (-7) = =5 rASwy
= 28 T oA e
= 75

2. Lxpress your answers as fractions in lowest terms. Show some work, not just your final answer
3.4 A /::' A

3.1 A/
-/ - _.{
) A0
.
4
3. Express your answers as fractions in lowest terrns. Show some work, not Just your final answer
! .
. ““’7‘&
a) ix@ = f?x i b) ——E - ( ‘___J
bf(l"S,f 5 5 5 25 10 85/ (/6
Jz2t 2
.2 3
=z <z
as : L
5
4. Simplify.
a) (3ab3)2 = ?azéb 2 Y ;(é
b) '"y_ = _..—-—;
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. Expand and evaluate.

) (= ~§

. Simplify. Answer with positive exponents.

a) (2x'y")(4x’y)

- 917‘33

¢) (3a’b)’(2ab*)

"

54574

"

(374‘53)(07450

b) 52 o _I _ _L
52 o5
. 16a2b° 4/
4a2b3 b?;
d) (x*y7)’
6 -
= X J 3
6
z X
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7. Solve.

a) 3x+7=19 b) 24-3x=9x
/2 /- 1ax
x=Y z2=8
¢) 3(x-4)=2x-3 d) 4-2(x+6)=3x—(x-4)
Sx- /27 k=3 4-21- 127 3u-x +4
—? ~An=-8 = Ru+4
-9 =4
%= -3
‘ Fﬁigan
37 2 4
By v+ 4 = Gy

b EIA

/\A -
8. At the concert on Friday night there were 30 more students than adults in attendance. The

admission price for a student was $5.00 and for an adult was $8.00. If the total revenue from the
attendance at the concert on Friday night was $1060, how many students and adults were at the

concert? o P .Ac(.ﬁ (vé -
H aclds = a

[

S-0:30 —2 83 - Ga 2%
s + B 1060 —> S5 +tHacI0CY

——

/]3s = 1300
< /o0

[O0 = a=30

a7 s
/00 sudes | 7o tbs



9. The length of a rectangular garden @m shorter than twice the width. The perimeter of the
garden plot is 28 m. What are the dimensions of the garden plot?

)@/Vl@ﬁ(:'é 620'-,4:"/
i A= e Sup 1+ 2L+ 28
D At O
Svéfracf ’Bg:—gﬁ/ QW‘Q: @%3”\
438 e
&w LY
Wb

11. Multiply and simplify.

a) S03x+2)(x+4) b) (2x-5)(3x"-2x+3)

= 5-(-512*—/,7xr9x-r5> . [91‘5*417,_” (px ~
_ 2 - )5 +I0X 15
/534 70x +4/0 e
= b+ lex
12. Simplify.

b) (x+5) -(x+2)(x+4)

18x* —12x* + 6x
= [:(7? Sat Sx +95‘>— (‘x zrﬁ/)f'f 21 +4)

a

) 6x

_ 18x_ 13x" . bx
T lex Cxr Lx =

XD r RS - by 8

S Bxo Axtl
= A+ 17
13. Factor. i
a) x°+8x+12 b) 3x2-2x-8 :(3x+‘{)(>L'a)
M), (e f e o2
A=847 o= =2 L/
O x-16 5 (x4 x-ar)

c) 5x*+23x-10
m.--su],,;,; 2 (Sx-2)x+8)
-

4r- 23
f ax-11x+6 = 4~ (1=

e) 30x% +42x+12
b(sat+ Tx+r2) m- ] 4

b(Sxta)x+r) g1 -3

I

L]
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